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WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. General Part-III Examination, 2019  

 ECONOMICS 

PAPER-ECOG-IV(A+B) 

Time Allotted: 3 Hours Full Marks: 100 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

 GROUP-A 
িবভাগ-ক 

1. Answer any two questions from the following: 
িনmিলিখত �য-�কােনা dিট  pেűর উtর দাওঃ 

5×2 = 10

(a) Explain the role of savings in capital formation in developing countries. 

উnয়নশীল �দশgিলর মূলধন গঠেন সĀেয়র ɛিমকা আেলাচনা কেরা। 

(b) What is the vicious circle of poverty? — Explain. 

দািরেdর dŶচk কােক বেল ? ব°াখ°া কেরা। 

 

(c) What do you understand by forward and backward linkage effects? 

অgবত�ী ও পůাদবত�ী pসারণ pভাব বলেত িক �বােঝা ? 

(d) What is the role of foreign direct investment in economic growth? 

অথ�ৈনিতক উnয়েন pত°k �বেদিশক িবিনেয়ােগর ɛিমকা কী ? 

  

2. Answer any one question from the following: 

িনmিলিখত �য-�কােনা একিট  pেűর উtর দাওঃ 

8×1 = 8

(a) State the reasons behind rapid population growth in less developed 
countries. 

sেlাnত �দেশ drত জনসংখ°া বৃিdর কারণgিল উেlখ কেরা। 

8

(b) How is the Gender Empowerment Measure determined? Give a critique of 
the measure. 

kমতায়েণর িলñিভিtক পিরমাপ-এর পdিতিট িকrপ ? এই পিরমাপ-এর একিট সমােলাচনা 
দাও। 

4+4
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3. Answer any two questions from the following: 
িনmিলিখত �য-�কােনা dিট  pেűর উtর দাওঃ 

16×2 = 32

(a) What is the difference between balanced and unbalanced economic 
growth? Mention the arguments in favour of balanced growth. What are 
the hindrances to balanced growth in case of an underdeveloped economy? 
সুষম ও িবষম অথ�ৈনিতক সমৃিdর মেধ° পাথ�ক° কী ? সুষম উnয়েনর সপেk যুিkgিল �লেখা। 
অনুnত �দেশ সুষম অথ�ৈনিতক সমৃিdর পেk বাধাgিল িক িক ? 

4+6+6

(b) What is the importance of agriculture in economic development? Explain 
the mutually complementary role of agriculture and industry. 

অথ�ৈনিতক উnয়েন kিষর ɛিমকা িক ? kিষ ও িশেlর পারsিরক পিরপূরকতার িবষয়িট 
আেলাচনা কেরা। 

8+8

(c) What are the objectives of the International Monetary Fund? Discuss the 
role of the IMF in the economic development of less developed countries. 
আnজ�ািতক অথ�ভাčােরর উেdশ°gিল িক িক ? sেlাnত �দেশর অথ�ৈনিতক উnয়েন 
আnজ�ািতক অথ�ভাčােরর ɛিমকা আেলাচনা কেরা। 

6+10

(d) What are Multinational Corporations? Explain the significance of MNCs in 
economic development of developing countries. 
বhজািতক সংsা কােদর বলা হয় ? উnয়নশীল �দেশর অথ�ৈনিতক উnয়েন বhজািতক 
সংsাgিলর grt পয�ােলাচনা কেরা। 

4+12

  

 GROUP-B 
িবভাগ-খ 

4. Answer any two questions from the following: 
িনmিলিখত �য-�কােনা dিট  pেűর উtর দাওঃ 

5×2 = 10

(a) Write a short note on Pie diagram. 
পাই িচেtর উপর একিট সংিkp টীকা �লেখা। 

5

(b) Distinguish between: 
পাথ�ক° িনণ�য় কেরাঃ 
(i) Population and Sample 

সমgক ও নমুনা 
(ii) Continuous and Discrete Variables. 

অিবিcn ও িবিcn চলক। 

2.5×2

(c) Discuss the different methods of collecting Primary Data. 
pাথিমক রািশতথ° সংgেহর িবিভn পdিতgিল আেলাচনা কেরা। 

5

(d) What is Frequency Polygon? State two uses of it. 
পিরসংখ°া বhɛজ কােক বেল ? এর dিট ব°বহার �লেখা।  

3+2
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5. Answer any one question from the following: 

িনmিলিখত �য-�কােনা একিট  pেűর উtর দাওঃ 

8×1 = 8

(a) What is Cumulative Frequency Distribution? Present such a distribution 
graphically using suitable example. Mention some important uses of this 
distribution. 

kমেযৗিগক পিরসংখ°া িবভাজন িক ? একিট উপযুk উদাহরেণর সাহােয° এই িবভাজন একিট 
�লখ-র মাধ°েম উপsাপন কেরা। এই িবভাজেনর কেয়কিট ব°বহার উেlখ কেরা । 

2+4+2

(b) Discuss the characteristics of a best measure of Central Tendency with 
suitable examples. 

উপযুk উদাহরেণর সাহােয° উৎkŶ �কndীয় pবণতা পিরমােপর �বিশŶ°gিল আেলাচনা কেরা। 

8

  

6. Answer any two questions from the following: 

িনmিলিখত �য-�কােনা dিট  pেűর উtর দাওঃ 

16×2 = 32

(a) 
 
(i) Distinguish between Mean Deviation and Standard Deviation. Which 

one is better as a measure of dispersion? 
 িবstিতর পিরমাপক িহসােব গড় িবc°িত ও সম°ক িবc°িতর মেধ° tলনা কেরা। ইহােদর 

মেধ° পিরমাপক িহেসেব �কানিট উnত বেল মেন কেরা ?  

(ii) Distinguish between absolute and relative measures of dispersion. 
 pkত এবং আেপিkক িবstিতর পিরমােপর মেধ° পাথ�ক°  িনণ�য় কেরা। 

(iii)  Mode and Median of the following frequency distribution are 27 and 
26 respectively. Calculate ‘a’ and ‘b’. 

িনmিলিখত পিরসংখ°া িবভাজেনর সংখ°াgr মান ও মধ°মার মান যথাkেম 27 এবং 26। 
‘a’ এবং ‘b’-এর মান িনণ�য় কেরা।   

Value of Variable 

চলরািশর মান 
0-10 10-20 20-30 30-40 40-50 

Frequency 

পিরসংখ°া 
3 a 20 12 b 

 

6+4+6

  

(b) (i)   What is mode? 
 সংখ°াগিরŸ মােনর সংjা দাও । 
(ii) Discuss the advantages and disadvantages of mode as a measure of 

central tendency. 

 রািশতেথ°র গড় িহেসেব ইহার ব°বহােরর সুিবধা ও অসুিবধাgিল আেলাচনা কেরা। 
(iii) What is the relationship between Arithmetic Mean, Median and 

Mode? 

 �যৗিগক গড়, মধ°মা ও সংখ°াগিরŸ মােনর মেধ° সmক� িক ? 

2+4+1+9
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(iv) Calculate the missing frequencies if Median of the following 
frequency distribution is 146.25. 

 িনmিলিখত পিরসংখ°া িবভাজেনর মধ°মার মান 146.25 হেল অনুk পিরসংখ°াgিলর 
মান িনণ�য় কেরা। 

Class Interval Frequency 
100 – 110 4 
110 – 120 7 
120 – 130 15 
130 – 140 ? 
140 – 150 40 
150 – 160 ? 
160 – 170 16 
170 – 180 10 
180 – 190 6 
190 – 200 3 

Total 150  
  

(c) (i) Discuss the merits and demerits of diagrammatic representation of 
data.  

 �লখিচেtর সাহােয° রািশতথ° উপsাপেনর সুিবধা ও অসুিবধাgিল আেলাচনা কেরা। 
(ii) Furnish a comparative study of using Arithmetic Mean, Geometric 

Mean and Harmonic Mean as measures of statistical average. 

 পিরসংখ°ান গড় িহেসেব �মৗিলক গড়, gেণাtর গড় ও িববত� গেড়র একিট tলনামূলক 
আেলাচনা কেরা। 

8+8

  

(d) (i)  What do you understand by Simple Frequency Distribution and 
Grouped Frequency Distribution? Explain with suitable examples. 

 সরল পিরসংখ°া িবভাজন ও �Ëণীবd পিরসংখ°া িবভাজন বলেত িক �বােঝা ? উপযুk 
উদাহরণসহ ব°াখা কেরা । 

(ii) Discuss the various steps in the construction of a frequency 
distribution from unclassified data. 

 একিট �Ëণীবd তথ°সাির �থেক পিরসংখ°া িবভাজন িনম�ােণর িবিভn ধাপgিল বণ�না 
কেরা। 

(iii) Discuss the problems while constructing this distribution. 
 এই িবভাজন িনম�াণ করেত িগেয় িক িক সমস°া আসেত পাের �সgিল আেলাচনা কেরা। 

6+5+5

 
——×—— 

 


